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#include <bits/stdc++.h>

using namespace std;
const int maxn =
struct struct edge
int v;
struct edge *n;

typedef struct edge *edge;
struct edge pool/maxn * maxn *
edge top = pool, adj maxn];
int V, matchimaxn]|, qh, qt, qimaxn|, father|/maxn|, base|/maxn];
bool inq[maxn!, inbimaxn], ed[maxn]||[maxn

’

.
’

void addEdge(int u, int v

--u, --V;
led/ul|v
ed/ullv] = ed|[v]iul = true;
top->v = v, top->n = adjlul, adjlu] = top++;
top->v = u, top->n = adjlv!, adjlv] = top++;

int LCA(int root, int u, int v
static bool inp[maxn];

memset(inp, 0O, sizeof(inp));
inplu = baselul]! = true;
u == root ;

u = father[matchiul;

inplv = baselv v;
v = father|matchlv

’

void mark blossom(int lca, int u

baselu] !'= lca
int v = matchlul;
inb[baselu = inb|baselv = true;

u = father|v];
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base/u] != lca) father|[ul = v;

void blossom contraction(int s, int u, int v
int lca = LCA(s, u, Vv);
memset (inb, 0, sizeof(inb));
mark blossom(lca, u);
mark blossom(lca, v);

baselu] !'= 1lca
father(ul = v;
base/v] !'= lca
father(v] = u;
int u=0; u<yV; u++
inb/baselu
baselu] = lca;
linglu
inqlql++qt! = ul = true;

int find augmenting path(int s

memset(inqg, 0O, sizeof(inq));
memset (father, -1, sizeof(father));
int 1 = 0; 1 < V; 1i++) baseli] = 1i;
inqlqigh = qt = = s| = true;
gh <= qt

int u = qlqgh++];
edge e = adjlul; e; e = e->n
int v = e->v;

baselu| !'= baselv| && matchlu| !'= v
v ==5s) || (matchlv] != -1 && father[match|v = -
blossom contraction(s, u, v);
father|[v] == -

fatheriv| = u;

match|v]| == -

&
ling[match|v
ingiql++qt! = match|v!| = true;

int augment path(int s, int t
intu==t, v, w;
ul= -
v = father[ul;
w = match[v];
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match|v
match|u
u=w;

I
< C

int edmonds
int matchc = 0;
memset(match, -1, sizeof(match));
int u=0; u<yV;, u++
matchiu] == -

matchc += augment path(u, find augmenting path(u

matchc;

int N, M, d :

int main

int sum = 0;
memset(adj, 0, sizeof(adj));
memset (ed, 0, sizeof(ed));
int i =1; 1 <= N; i++
scanf("%d", &d[i]), sum += d[i];
sum &
puts("No");
inti=1, u, v; 1 <=M; i++
scanf("%d%sd", &u, &v);
dlu/ == 2 & d/v]| ==
sum += 2;
addEdge(u, i + 2 * N);
addEdge(u + N, i + * N);
addEdge(v, i + 2 * N + M);
addEdge(v + N, i + *N + M);
addEdge(i + 2 * N, i + 2 * N + M
addEdge(u, v);
d[u] ==
addEdge(u + N, v);
dlv| ==
addEdge(u, v + N);
puts (edmonds & == sum ? "Yes" : "No"

’
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